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PROBLEM:

X®© || LTisystem#1 | w® | LTisystem#2 |, YO
7 ha(t) h(0)

In the cascade of two LTI systems shown in the figure above, the first system has an impulse response

e 2 0<t<l1
ha(t) = { 0 otherwise,
and the second system is a differentiator system described by the input/output relation
dw(t)
)= ——
y(t) at

Find the impulse response of the overall system; i.e., find the output y(t) = h(t) when the input is
X(t) = §(t). Give your answer both as an equation and as a carefully labeled sketch.
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